FIRST MID TERM EXAMINATION - 2022

6 -sm MATHS © Time:130Hrs

Marks:50

| SECTION-A. £
Choou tha correct amwar. : 5X1=65"

~ The estlmatlon to the nearest hundred of 76812 s

2) 7700 b) 76000, ) 76800 d) 76900

Which of the following expression Is not zero,

8 0X0 b 00 9% &g '*d)%'

. The'value of *x'In'the circle Is

2)6 b8 o2t d) 22

16
Which Is not equlvalent ratlo of — o4 o

2 / A '/a st AR S A

The number of days inw week ls

A1 | R

2) 30 W b) 30w din €) 74w . d)TIw

Pllllnthabhnla SRR S | 5T
" The smallesti'dlgltnumberls. AL oA L’..‘ I i

2 OBBTRE Giievisinrisirisnsisionss 658794. (use < >') et
The algebralc statement ofS Is dIvlded by5 Is ShsserpinR SRS e aRRARAS
3 5 & " Coenravineninrns s, bt e e VIS e i e
45 + (7 ’+ 8) 2 “._ Jenenseas nur v;r FITED -'” , gL

% Tmﬂl'fl]mt _ .- _ _ .r.'_ B sx 1 . 5
13418 munded of as 100 to the nearest 100 Sy LA
L TX20+~4 =136, . - S Ra e “""‘ "
517 Is equivalent to 21 15, I e T NEasY
4 thecostof applé is * x andthecost of banana Is Rs Sthan the total costf e

¢ .

O offrultslsRs, x + 5.

¥ The w:al,number of4dlglt numbgr Is soao. F R L
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_ Matchthefollowing. ~ - ) el B &5 7

1
$, 10091 . L o= 3B
2. 100, 100, 100 S A
3. n+3=7 . commutative
4. Ratioof3to5 - International system
B a+b=b+c.' - prodecessor .
g SECTION-B- ', . 4 _
Writeanvflve. e by S w10

.~ Write the name of the system : I)8 47 567 - i) 890, 057, 689.

vV
1. Add 54283746 and 59283748.
2
3. Complete the table and find the value. - B "

‘FK_ 12 a4 1
: '._iK'~2.- 4 | 6 ’

4, Simplify : 20 : 5. | - -
5. Express the verbal statement to algebraic statement

i) 7 in added to 100 il) 4 times q. |
- 6. Wnte the ratio form circle s 8 to trlangle Is 7
Lol . S SECTION C
VI- Anyfour. al | e 2t B X =20

1. In an exhibition the number of tlckets sold on' the first, second third and
fourth days are 1 10,000, 75,060, . 25,7000 and 30,606 respectively.
 Find the total number of tickets sold on all the 4 days.

i9. Inayear a whole-sale paper firm sold 6 25,600 notebooks out of 7,50 000

: notebooks. Find the number of notebooks left unsold:’ W

. 3'.' Out of 50 students In @ class 30 are boys. Fnd the ratio of
"I Number of boys to the number of girls. .
i) Number of girls to the total number of students
' Iil) Number of boys to the total number of students. ,
“iv) Total number of students to the number of boys. * -
) & Total number of students to the number of girls. '
5 ..‘4 Mention the propertv belng Illustrated in each of the cases glven below
|)75+34+34+75 |I)50+0 _' m)sox1 lv)50x1-51
. v)aX(b+c) (aXb)+(aXc) 5 4 :
5. Athlyan and MugHarrare brothers. Athlyan is p years oId and Mugilan is élder
 to Athlyan by 6 years. Write an algebralc statement for this and ﬂnd the age
i of Mugllan It Athlyan Is 20 years old AR .
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